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vi)

vii)

There are seven questions in all in
this question paper.

All questions are compulsory.

In the beginning of each question, it
has been clearly mentioned that
how many parts of it are to be
attempted.

Marks allotted to each question are
mentioned against it.
Start from the first question and go
up to the last question. Do not
waste your time on the question you
cannot solve,
Write the solution on the pages of
both sides of answer-book. Write the
steps of solutions olf all questions
tion No. 1.
(13;( ;f,gt ,%:gsplace for rough work, do
it on left page of your answer book
and cross ( x ) the page. Do not write
the solution on that page-



viii) Do not rub off the lines con

ix) Draw neat @
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in a guestion of construction- QO
write Ctlhc steps of constructio
bl’ief, if aSde-

1 it is
solution of a question wl:xerevg; clnce

ise in 1ts a
necessa otherW1§ .
the S(:-l{’lﬁon will be treate

incomplete and Wrong.
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i) WEEH = 3 TA — 2 HIAH

i) FgeTh = 2 WifeqH - 3 A

iii) SgeTh = 3 HifeaeRt ~ 2 WA

iv) g = 3 HifegEHT + 2 WA 1

Do all the parts :

Four alternatives of the answer of _each part
are given, out of which only one 1S correct.
Pick out the correct aliernative and write it
in your answer-book -

a)

For any positjye integer P» CEvVery

positive odd integcr will be of the form
) P i) pt 1



b)

d)
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The points A (-4 90D B(4,0) and
C(0, 3) are th¢ vertices of a triangle-
That triangle will b.e

i) Right angled triangle

ii) Isosceles triangic

iii) Equilateral triangle

iv) Scalene triangle 1
The areas of twO similar triangles are
20 cm? and 45 cm? respectively- The

ratio of their heigb_ts will be

iy 20:45 p) 9:4
iii) 2:3 . iv) 4:9 1
If tan9=—52a—li§-, the va]ue_of cos 0 will
a“-b
be
; i a®-b’

1 i —_—
. a2 + b2

) a2+ b2 “ ab . 1
11 — v —
Woa? - a2 +b°

The length of minute hand of a clock is
14 cm. The area swept by minute
hand in one minute will be

i) 10-26 cm? ii) 10-50 em?

1075 Cl"n2 lV) 1 1-0 crn2 1

r a frequency distribution, the
median and

1ii)
Fo
relation P€tween mean,
mode 18 _
i) Mode = 3 Mean - 2 Median
i1) Mod€ = 2 median -~ 3 mean
i) Mod¢ = 3 median — 2 mean
iv) Mode = 3 median * 2 mean 1
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5. Do all the parts :
P.s P
a) In the fi o and
) igure, S Q “TR

ZPST % APRQ Prove that APQR is an 4
isosceles triangle- p ;

0 R

b) Find the value of

31n2 30°+COS 30

Two cubes each of volume 64 cm
are joined end to end. Find the surface

area of the resulting cuboid.

d) The daily incomes of 5
facto are given in followin table

c)

workers

per limit of

Find the lower limit and Up
1

the modal class.
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3. Do all the parts:

.a] Prove that \5 is an irrational number
b) Solve the follo >
W1
- clglmmauon nﬁi ;ggtem of equations
X <Y
—f—tL=
2 3 1 0) X “y‘=3 . 2
¢) Find the
g Tsatlo in which x-axis divides
e 3egment joining the points
Jand B(5,2) 2
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the
. ircular cones haveé
o so}ixq "%hfnc,:; radii of their bif‘:s
same height. They are melted
are n and 7,-

e
Show that the rad!

2

cylinder is -l-’s""' '
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4. Do all
a)

b)

d)
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the parts : _
Without performing the long division
Procedure show that the rational

1351 .
Number 5 1S terminating decimal.

2
Find the roots of Quadratic equation
ax* ~2J6x+2=0 by factorization
method. 2
IfthchintS(a’o)’(oxb) d
(1, 1) are collinear, prove that |
1

l~ : 2
a b
In the figure, Ois the centre of a circle.
If PQ =24 cm and PR = 7 cm, find the
arca of shaded portion. 2
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tan 35° tan 40°tan 45° tan 50°tan 5
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5°=1 .
2

i) AABCH fag AT %
B+C A 2

=cot
co 2 %,a}

tan

) ofe s & % ol TR A 25
e SaRE 1 AT
1} 3R 010 | 1020 | 20-30
6

FRERaAl 6 I

——

30-40 40-50 |
10 5

4

arts :
la))o austr?:wpby graphical method that system

f linear equations
%x:4y=10 and 3x+6y=12 has no

ion. Imps:,'-www.uphoard(m.linc.com. 4
;(;?\:/w a triangle ABC In . which
BC = 7 c¢m, /4B = 45. and
/A = 105°. Construct 2 triangle,
similar to triangle ABC, whose sides

are % times of the corresponding sides

b)

of MABC. 4
¢) i) Prove that —
tan 35° tan 40° tan 45° tan 50° tan 5°= 12.

— Sd(\n -~
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i) In AABC, prove that

B+C A
n ) | 5- )
If the arithmetic Mean of the following

given table i 25, find the missing
frequency :

—ﬂ?&'intewal 0-10 1020 - 2030 |

ta
d)
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|___Frequency 6 7 =

30-40 40-50
10 S
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6. Do all the parts :
tive value of k for

a) Determine the posi

which the equation
8x+k=0 will have both re

s x°+kx+64=0
and x°- al
roots. &
A man standing on the deck of a ship,
which is 14 metre above water level,

elevation of the

observes the angle of
top of a hill -as 60° and the angle of

depression of the base of the hill as
the height of the hill and

30°. Find
distance of the hill from the ship.

(given V3=1:732) 4
A solid toy Is in the shape of a
hemispher¢ surmounted by a right
circular cone. Height of this cone is
2 c¢m and the diameter of the base is
4 cm. Find the volume of this toy. If a
ircular cylinder circumscribes

f volumes

right €
the toy, find the difference ©
of the cylinder and toy. .

( Take 7= 3'14)
54943 008G
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d) :
zhecr‘narks obtained by the students of
ass N Mathematics are as

s following :
ﬁm\ﬂ& 0-10 | 10-20 | 20-30 | 30-40 |
T of - =
| studene | 2 10 12 | 1S \
40-50  150-60 [60-70 |
. 13 | 8
. Find the median. : :l
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i) aapc we TIRIE BRI y forad
AC =~ gc¥ T AB?=2AC?, ar fa=
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7. Do all the parts : - ‘ :
a) A boat, whos€ speed In still water 1S
ur more time to g9

an to return

12 km ’ upstream
t. Find
6

downstream (o the same¢ SpO
the speed of the stream.
OR

Find the nature
uadratic equation 9x> - 6x

the roots are real, find them.
b) i) In the figure, if BD L AC and
CE 1 AB, prove that

of the roots of the
+3=0. If
6

AAEC ~ AADB.
C
D
F>
A E B 3
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i - ;
1) AA?C is an isosceles triangle in
which AC = BC. If AB%=2AC
prf)ve that AABC is a right triangle.

3

. OR
i) I!} equilateral triangle ABC, whose
side is a , prove that its altitude is

ay3
2 3

ii) The point D is on the side AC of
AABC such that ZACB = ZABD
Prove that AABC ~ AADB. 3
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